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8 NUMBERS 20-100.

(a) 1 ten + 7 tens =
(6) 6 tens + 2 tens =
(c) 3 tens + 4 tens =
(d) 8 tens — 6 tens ==

(e) 9 tens — 5 tens =
(/) 7 tens + 3 tens =
(g) 10 tens — 5 tens =
(h) 10 tens — 9 tens =

10 + 70 =
60 + 20 =
30 + 40 =
80 - 60 =
90 - 50 =
70 + 30 -=

100 - 50 =
100 - 90 =

30+ 10+ 6 =
40+ 20+ 5 =
20+ 10+ 7 =
70+ 20+ 9 =
70-20 + 9 =
50-30+ 8 =
60-50 + 2 =
100-40+ 3 =

4. A

17+ 10 =
17-10 =
57+ 10 =
57-10 =
84+10 =
84-10 =
16+ 10 =
16-10 =

B

30+ 16 =
40+ 25 =
20+ 17 =
70+ 29 =
79-20 =
58-30 =
62-50 =
103-40 =

B

28+ 20 =
28-20 =
31 + 30 =
31-30 =
65+40 =
65-40 =
96 + 50 =
96 - 50 =

C

30+ 26

40+ 35

20+ 27

70+ 9

79+ 20

58+ 30

62+ 50

103+40

C

49+ 30 =

72+ 60-
93 + 30-
76 + 50 =

30+ 49 =

50 + 46 =

50+ 89 =

80 + 94 =

70 - 10

60 - 20

40 - 30 :

80 + 60

90 + 50

70 ~ 30 :

100 + 50 :

100 + 90

D

30+ 36

40+ 45

20+ 67

70+ 19

89-20
88-30
62-60
103-20

D

96-70
86-70
68-20
41-30
47-40
88-70
99-80
93-40

5. A one is sometimes called a unit.

Thus, 5 stands for 5 ones or 5 nnita

How many unifs make 1 ten ?

How many units make 1 hundred ?

How many tens make 1 hundred ?


